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WEST BENGAL STATE UNIVERSITY 

B.Sc. General Part-I Examination, 2021 

CHEMISTRY 
PAPER: CEMG-I 

Time Allotted: 2 Hours Full Marks: 50 

The figures in the margin indicate full marks. pািnক সীমার মধ°s সংখ°ািট পূণ�মান িনেদ�শ কের।  
Candidates should answer in their own words পরীkাথ�ীরা িনেজর ভাষায় যথা সmব শbসীমার মেধ° 
and adhere to the word limit as practicable. উtর কিরেব। 

All symbols are of usual significance. 

 CEMGT-11A 
Answer any one question from either UNIT-I OR UNIT-II 

UNIT-I অথবা UNIT-II েথেক েয-েকােনা একিট  pেűর উtর দাও 

UNIT-I 

12×1 = 12

1.(a) Mention the assumptions of kinetic theory of gases and derive the equation 
2

3
1 mNCPV , where the symbols have the usual significance. 

গয্ােসর গিততেttর sীকাযর্gিল উেlখ কেরা এবং 2

3
1 mNCPV

 
সমীকরণিট উপপাদন কেরা, 

েযখােন বয্বhত িচhgিল িনজ িনজ �বিশŶয্ িনেদর্শ কের।  

2+4

(b) Define viscosity coefficient of a liquid. Write its unit in CGS systems. Explain 
that viscosity of a liquid decreases with rise in temperature but that of a gas 
increases with temperature.  
তরেলর সাndতা gণাì কােক বেল ? CGS পdিতেত এর একক েলেখা। ‘উŹতা বৃিdর সেñ তরেলর 
সাndতা hাস পায় িকnt গয্ােসর সাndতা বৃিd পায়’ — আেলাচনা কেরা।  

1+1+2

(c) Calculate the root mean square velocity of oxygen gas at 27°C. 

27°C উŹতায় অিkেজন গয্ােসর গড় িdঘাতীয় গিতেবেগর বগর্মূল (RMS velocity) িনণর্য় কেরা।  

2

  

2.(a) Prove 
8
3

C

CC

RT
VP  for a van der Waals gas, where PC, VC, TC are critical pressure, 

critical volume and critical temperature of the gas respectively. 

একিট ভয্ান ডার ওয়াল গয্ােসর েkেt pমাণ কেরা 
8
3

C

CC

RT
VP

 েযখােন PC, VC, TC যথাkেম ঐ 

গয্াসিটর সংকট চাপ, সংকট আয়তন ও সংকট তাপমাtা িনেদর্শ কের। 

4

(b) The van der Waals constants of a gas are a = 6.50 atm lit2 mole–2 and 
b = 0.056 lit mole–1. Calculate the critical pressure and molar critical volume of 
the gas.  

েকান গয্ােসর ভয্ান ডার ওয়াল rবকgিল হল a = 6.50 atm lit2 mole–2 এবং b = 0.056 lit 

3
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mole–1। গয্াসিটর আণব সংকট আয়তন এবং সংকট চাপ িনণর্য় কেরা। 

(c) Define unit cell of a crystal. Calculate the number of atoms per unit cell of a body 
centered cubic lattice. What is meant by the plane of symmetry of a crystal? 
েকান েকলােসর একক েকাষ-এর সংjা দাও। একিট েদহেকিndক ঘনেকর pিত একক েকােষ পরমাণুর 
সংখয্া িনণর্য় কেরা। েকলােসর pিতসাময্ তল বলেত িক েবােঝা ? 

1+1+1

(d) Surface tension and surface energy are numerically same. — Explain. 
পৃŸটান এবং পৃŸশিkর সাংখয্মান সমান— বয্াখয্া কেরা। 

2

  

 UNIT-II 
3.  (a) Define CP and CV. Deduce thermodynamically the equation CP – CV = R for one 

mole of an ideal gas.  
CP এবং CV –এর সংjা দাও। তাপগিতিবদয্ার সাহােযয্ উপপাদন কর েয একিট আদশর্ গয্ােসর এক 
েমােলর জনয্ CP – CV = R । 

2+3

(b) Find out the relation between heat of reaction at constant pressure and that at 
constant volume for a particular reaction. 
একিট িনিদর্Ŷ িবিkয়ার জনয্ িsর চােপ িবিkয়া তাপ এবং িsর আয়তেন িবিkয়া তােপর মেধয্ সmকর্ 
sাপন কেরা। 

3

(c) Calculate the maximum work when 2.0 mole of an ideal gas expands isothermally 
at 27°C from 1 litre to 5 litre. 
2.0 েমাল েকান আদশর্ গয্াসেক 27°C উŹতায় সমতাপীয়ভােব 1 িলটার আয়তন েথেক 5 িলটার 
আয়তেন pসািরত করা হেল kতকােযর্র সেবর্াc পিরমাণ গণনা কেরা। 

2

(d) State and explain Hess’s law of constant heat summation. 
েহেসর তাপ সমিŶ িনতয্তার সূtিট িববৃত ও বয্াখয্া কেরা। 

2

  

4.  (a) Derive the relation PV  = constant, for an adiabatic reversible expansion of an 
ideal gas. 

আদশর্ গয্ােসর েkেt rdতাপীয় পরাবতর্ সmpসারেণর জনয্, PV  = rবক উপপাদন কেরা। 

4

(b) What is inversion temperature? Hydrogen gas on Joule-Thomson expansion at 
ordinary temperature shows heating effect. — Explain. 
িবেলাম উŹতা িক ? সাধারণ উŹতায় হাইে»ােজন গয্ােসর জুল-থমসন সmpসারেণ উŹতা বৃিd পায়।— 
বয্াখয্া কেরা। 

2+1

(c) Calculate the expansion work done when 50 g of water is electrolysed under 
constant pressure at 25°C. 
pসারণ কাযর্ িনণর্য় কেরা, যখন 50 g  জলেক তিড়ৎ িবেųিষত করা হয় 25°C এবং িsর চােপ। 

2

(d) The constant pressure heat capacity of a sample of a perfect gas is 20.17 JK-1 
within the temperature range 25°C to 100°C. Find out the enthalpy change of the 
gas when the temperature is raised from 25°C to 100°C. 
একিট আদশর্ গয্ােসর 25°C েথেক 100°C সীমার মেধয্ িsর চােপ তাপgাহীতা হল  
20.17 JK-1। ওই গয্ােসর িsর চােপ এনথয্ালিপর পিরবতর্ন িনণর্য় কেরা যখন তাপমাtা 25°C েথেক 
বািড়েয় 100°C করা হল। 

3
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 CEMGT-11B 
Answer any one question from either UNIT-I OR UNIT-II 

UNIT-I অথবা UNIT-II েথেক েয-েকােনা একিট  pেűর উtর দাও 

UNIT-I 

13×1= 13

5.  (a) Find out the expression for radius of the nth Bohr orbit. Why these orbits are 
called ‘Stationary orbits’? 

n-তম েবার কেkর বয্াসােধর্র রািশিট িনণর্য় কেরা। এই কkgিলেক sানুকk বলা হয় েকন ? 

3+2

(b) In what ways does an atomic orbital differ from a Bohr’s orbit? 

েবােরর কেkর সেñ পরমাণ ুকkেকর pেভদ িক ? 

3

(c) Deduce an expression for the half-life period of a radioelement. 

েতজিstয় েমৗেলর অধর্ আয়ুsােলর সমীকরণ pিতপাদন কেরা। 

2

(d) Define isobars, isotones with one example. 

আইেসাবার, আইেসােটান-এর একিট কের উদাহরণসহ সংjা েলেখা।  
3

  

6.  (a) What is Pauli’s exclusion principle? What is the electronic configuration of 2Cu
? 

পাউিলর অপবজর্ন নীিত িক ? 2Cu -এর ইেলক¹ন িবনয্াস েলেখা। 

2+2

(b) How was Bohr’s atomic model modified by Somerfield’s theory? 

েসামারিফেlর তtt িকভােব েবার পরমাণ ুমেডল সংেশািধত কের ? 

2

(c) Distinguish between nuclear fission and fusion reactions with suitable examples. 

উপযুk উদাহরণসহ িনউিkয় িবভাজন ও সংেযাজন িবিkয়াgিলর মেধয্ পাথর্কয্ িনেদর্শ কেরা। 

4

(d) The half-life of 232Th is 10104.1  years and that of its daughter element 228Ra is 7 
years. What is the weight of 228Ra in equilibrium with 1 gm of 232Th. 
232Th-এর অধর্ আয়ুŴাল 10104.1  বৎসর এবং ইহা েথেক উৎপn 228Ra–এর অধর্ আয়ুŴাল 7 
বৎসর। কত ভেরর 228Ra 1 gাম 232Th –এর সেñ সাময্াবsায় থাকেব ? 

3

  

 UNIT-II 
7.  (a) Describe the analytical tests to detect the following radicals (with reaction): 

িনmিলিখত মূলকgিলর সনাkকরেণর জনয্ gণগত পরীkা বণর্না কেরা। (িবিkয়াসহ) 
(i) Fe3+  (ii) Cl–   (iii) Cu2+ 

2×3

(b) How will you detect –NO2 group in presence of –NH2 group? 

–NH2 grেপর উপিsিতেত িকভােব –NO2 grপেক শনাk করেব ? 

2

(c) What is sodium nitropruside test for the detection of S2– ? Write the reactions. 

S2– এর সনাkকরেণ েসািডয়াম নাইে¹াprসাইড পরীkা িক ? িবিkয়ািট েলেখা। 

3

(d) What is Brady’s reagent? 

bয্ািডর িবকারক িক ? 

2
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8.  (a) Complete the following reactions:

নীেচর িবিkয়াgিল সmূণর্ কেরাঃ 
 

(i)  
 
 
 

(ii) (iii)  MnSO4 + HNO3 + NaBiO3  
 

2×3

(b) What is the group reagent for Group II and Group IIIA cations? Explain the 
principle involved in separation of Group IIIA cations. 

grপ II ও grপ IIIA কয্াটায়নgিলর জনয্ grপ িবকারকgিল িক িক ? grপ IIIA কয্াটায়নgিল 
পৃথকীকরেণর নীিতিট বয্াখয্া কেরা। 

2+2

(c) Explain the principle of cobalt nitrate test. How does zinc respond to cobalt 
nitrate test? Write down the pertinent reactions. 

েকাবাl নাইে¹ট পরীkার মলূনীিতিট বয্াখয্া কেরা। িজì িকভােব েকাবাl নাইে¹ট পরীkায় সাড়া েদয় 
? সংিųŶ িবিkয়াgিল েলেখা। 

3

  

 CEMGT-11C 

Answer any one question from either UNIT-I OR UNIT-II 

UNIT-I অথবা UNIT-II েথেক েয-েকােনা একিট  pেűর উtর দাও 

UNIT-I 

12×1 =12

9.  (a) Write down the mechanism of the following reaction:
িনmিলিখত িবিkয়ািটর িkয়া েকৗশলিট িববৃত কেরাঃ 

 

  
42

3

SOHConc.
/HNOConc.  

3

(b) A compound A gives (CH3)2CO and CH3CH2COCH3 upon ozonolysis. What is 
the structure of A? 

একিট েযৗগ A ওজেনািলিসেসর ফেল (CH3)2CO এবং CH3CH2COCH3 উৎপn কের। A েযৗগিটর 
গঠন িক ? 

2

(c) What is the product of the following reaction? Give mechanism. 

িনmিলিখত িবিkয়ায় উৎপn পদাথর্িট িক ? িবিkয়ার িkয়ােকৗশল েলেখা। 

  22
23

OH/HBrCHCHCH  

1+2

OH

COOH 
+NaHCO3

NO2

OH 

FeCl3 

CH3 
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(d) How will you distinguish the compounds chemically in the following pairs? 

িনেmর েজাড়gিলর েযৗগgিলেক িকভােব রাসায়িনক উপােয় উহােদর পাথর্কয্ েবাঝােব ? 

(i) CHCCHCH 23  and  33 CHCCCH  

(ii) CH3 – C = CH – CH3  and  CH3 – CH2 – C = CH2 

 CH3  CH3  

2+2

  
10.(a) Write down the canonical forms of p-nitrophenoxide ion.

p-নাইে¹ােফনkাইড আয়েনর সংsnনজিনত গঠনgিল েলেখা। 
2

(b) Write down the product(s) of the following reactions:
নীেচর িবিkয়াgিলেত উৎপn পদাথর্(gিল) েলেখাঃ 

(i) BACHCCH
Co8060/4SO2H20%

4HgSO1%
I3CH(ii)
2NaNH(i)

3  

(ii) CCHCHCF HBr
23  

 

(iii)   D
3AlClanhd

Cl2CH2CH3CH  

6

(c) Monochlorination of a hydrocarbon (C5H12) gives only one monochlorinated 
derivative. Identify the hydrocarbon. 

একিট হাইে»াকাবর্েনর (C5H12) েমােনােkািরেনশেন একিটমাt েমােনােkািরেনেটড জাতক উৎপn হয়। 
হাইে»াকাবর্নিট সনাk কেরা। 

2

(d) Compare the stabilities of 32333 CHCHCHCH,C)(CH  with reasons. 

C)(CH 33  ও 323 CHCHCHCH  sািয়t tলনা কেরা। েতামার উtেরর বয্াখয্া দাও। 

2

  

 UNIT-II 
11.(a) Write down the Fischer projection formula for 

CH3 CH(OH)  CH(Br) CH3  and find out R/S configurational descriptors of the 
stereocentres in the formula you have drawn. 

CH3CH(OH) CH(Br)CH3 েযৗগিটর িফশার অিভেkপ িচt অìন কেরা। েতামার অিìত িচেt 
উপিsত িsিরওেসnােরর R/S নামকরণ কেরা। 

2+2

(b) How can you distinguish the following pair by chemical method? 

রাসায়িনক পdিতেত িকভােব নীেচর েযৗগেজাড়gিলর মেধয্ পাথর্কয্ িনrপণ করেব ? 

(i) CH3 CH2 CH CH3  and   (CH3)3 C – OH. 
 OH 

(ii) CH3CH2OCH2CH3 and CH3OCH2CH2CH3  

1 2
1 +1 2

1
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(c) Give the preparation of phenyl magnesium bromide. Using phenyl magnesium 
bromide how can you prepare the following compounds. 

িফনাইল ময্াগেনিসয়াম েbামাইেডর pstিত েলেখা। িফনাইল ময্াগেনিসয়াম েbামাইড বয্বহার কের 
িকভােব িনmিলিখত েযৗগgিল pstত করেব ? 

(i) C6H5COCH3   (ii)  C6H5COOH  

1+2+2

  

12.(a) Write down the mechanism of E1 reaction showing the rate determining step. 

হার িনণর্ায়ক ধাপ উেlখ কের E1 িবিkয়ার িkয়ােকৗশল েদখাও। 

3

(b) Write down all the stereoisomers of CH3CH(OH)CH(OH)CH3. Identify the pair 
of enantiomers and diastereomers. 

CH3CH(OH)CH(OH)CH3 েযৗগিটর সবকিট িsিরওআইেসামার েলেখা। এনানিশওমার ও 
ডায়ািsিরওমার েজাড়gিল িচিhত কেরা। 

3

(c) Predict the products in the following reactions. (any two) 

নীেচর িবিkয়াgিলেত উৎপn পদাথর্gিল েলেখা। (েয-েকােনা dিট ) 
 

(i)  
 

(ii) 
Δ

4SO2HConc.
OH2CH

3CH
|

3CH
|
C3CH  

(iii) 
O3H(ii)

MgBr3CH(i)
3COCH3CH  

2+2

(d) Ethanol is soluble in water but dimethyl ether is not. — Explain. 

ইথানল জেল dাবয্ িকnt ডাইিমথাইল ইথার নয়। — বয্াখয্া কেরা। 
2

  

 CEMGT-11D 

Answer any one question from either UNIT-I OR UNIT-II 

UNIT-I অথবা UNIT-II েথেক েয-েকােনা একিট  pেűর উtর দাও 

UNIT-I 

13×1 = 13

13.(a) What is Lattice energy? Establish the Born-Haber cycle for the formation of 
Sodium Chloride crystal from Metallic Sodium and gaseous chlorine. 

জালক শিkর সংjা দাও। ধাতব েসািডয়াম ও গয্াসীয় েkািরন েথেক েসািডয়াম েkারাইড গঠেনর ‘বণর্-
েহবার’ চk pিতŸা কেরা। 

1+4

Cl 

NO2 

NaOH 
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(b) Discuss VSEPR theory and predict the shapes of the following molecules (any 
two):  
VSEPR তtt আেলাচনা কেরা এবং িনmিলিখত অনুgিলর আkিতর আভাস দাও।  
(েয-েকােনা dিট ) 
(i)  H2O  (ii)  SF6  (iii)  NH3 

2×2

(c) Explain why 
(i) HF has higher boiling point than HCl. 
(ii) PCl5 is a well known compound but PH5 does not exist. 

কারণ বয্াখয্া কেরাঃ 
 (i) HF-এর sটনাংক HCl–এর েচেয় েবশী। 
(ii) PCl5 অণিুট পাওয়া যায় িকnt PH5 অণুিটর অিst েনই। 

2+2

  
14.(a) Explain the structures of BCl3 and PH3 with the help of theory of hybridisation. 

সংকরায়ণ তেttর সাহােযয্ BCl3 এবং PH3-এর গঠন বয্াখয্া কেরা। 
2+2

(b) Explain: 
(i) NH3 is more polar than NF3. 
(ii) Melting point of AlF3 is greater than that of AlCl3. 

বয্াখয্া কেরাঃ  
(i) NH3, NF3 অেপkা েবশী rবীয়।   
(ii) AlF3-এর গলনাংক AlCl3 অেপkা েবশী। 

2+2

(c) SiCl4 hydrolyses readily but CCl4 is inert towards water. — Explain. 

SiCl4 সহেজ আdর্িবেųিষত হয় িকnt CCl4 জেল িনিkয়।— বয্াখয্া কেরা। 

2

(d) AgF is soluble in water but AgI is not. — Explain. 

AgF জেল dাবয্ িকnt AgI নয়। — বয্াখয্া কেরা। 

3

  

 UNIT-II 

15.(a) Make a comparative study of N, P and As with respect to the following: 
(i) Hydrides (ii) Oxides (iii) Oxyacids.   

N, P এবং As েমৗল িতনিটর িনেmাk ধমর্gিলর সােপেk tলনামূলক আেলাচনা কেরাঃ 
(i) হাই»াইড সমূহ   (ii) অkাইড সমূহ   (iii) অিkঅয্ািসড সমূহ 

2×3

(b) What is electronegativity? Arrange the following with increasing order of 
electronegativity. Give reasons. 

তিড়ৎ ঋণাtকতা িক ? িনেmাk েমৗলgিলেক kমবধর্মান তিড়ৎ ঋণাtকতা অনুসাের সাজাওঃ — বয্াখয্া 
কেরা। 

 Cl,  I,  F,  Br  

2+2
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(c) Discuss the hydrides of carbon and silicon in a comparative manner. 

কাবর্ন ও িসিলকন েমৗল dিটর হাই»াইড সমূেহর মেধয্ tলনামূলক আেলাচনা কেরা। 
3

  
16.(a)  Compare the Lewis acidity of halides of Boron with proper explanation. 

উপযুk যুিkসহ েবারণ হয্ালাইডgিলর লইুস-এর আিmকতার tলনা কেরা। 

3

(b) Give one preparation and use of hydrazine. 

হাই»ািজন-এর pstিতর একিট পdিত ও বয্বহার েলেখা। 

2

  
(c) Explain: 

(i) The 1st electron affinity of oxygen is negative but the 2nd electron affinity of 
oxygen is positive. 

(ii) Nitrogen is less electronegative than oxygen but the ionisation  potential of 
nitrogen is greater than that of oxygen. 

বয্াখয্া কেরাঃ 
(i) অিkেজেনর pথম ইেলক¹ন আসিk ঋণাtক িকnt িdতীয় ইেলক¹ন আসিk ধনাtক। 
(ii) নাইে¹ােজেনর তিড়ৎ ঋণাtকতা অিkেজেনর েথেক কম িকnt আয়নীভবন িবভব অিkেজেনর েচেয় 

েবশী। 

2+2

(d) Size of K+ ion is smaller than Cl– ion although they contain the same number of 
electrons. — Explain. 

যিদও K+ আয়েনর এবং Cl– আয়েন সমসংখয্ক ইেলক¹ন বতর্মান, K+ আয়েনর আকার Cl– এর েথেক 
কম। বয্াখয্া কেরা। 

2

(e) Compare the stabilities of PbCl2 and PbCl4 with reasons. 

কারণসহ PbCl2 ও PbCl4–এর sায়ীt tলনা কেরা। 

2

  
 N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp 

to their own respective colleges on the same day / date of examination within 1 hour after end of 
exam. University / College authorities will not be held responsible for wrong submission (at in 
proper address). Students are strongly advised not to submit multiple copies of the same answer 
script. 
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